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2. Unit Test Case AlLI2I2 &L =1}

- persistence/inventoryRepository - )| I 12|AE H& L &0l

inventoryRepository repo;
repo.setAllDrinks(inventorylList);

resultList = repo.getlList();
I_EQ(resultList.size(), 20);

EQ(resultList[0].first, "22");
IT_EQ(resultList|[@].second, 10);

T_EQ(resultList e tirstys “ZIEIEP )=
T_EQ(resultList .second, 10);

EQ(resultList .first, "H|E}500");
"_EQ(resultList .second, 10);

1 1 test from InventoryRepositoryTest
1 InventoryRepositoryTest.SetAndGetAllDrinks

OK 1 InventoryRepositoryTest.SetAndGetAllDrinks (@ ms)
1 1 test from InventoryRepositoryTest (@ ms total)




2. Unit Test Case AlLI2I2 &L =1}

- domain/inventory - I 11 &0l 2 &

o MDD StUEIE UCHH true, 2 I falseE BHEISI=X].
o M1 =Z0lA StLIA reduce 3= [ isEmpty() 2t M2

TEST(InventoryTest, IsEmpty) {
Drink drink("&Ef", 1300, "D003");
inventory invi(drink, 0);
ASSERT_TRUE (inv1. isEmpty());

inventory inv2(drink, 2);
ASSERT_FALSE (inv2.isEmpty());
}

] InventoryTest.Constructor
0K ] InventoryTest.Constructor (@ ms)

] InventoryTest.GetDrink
0K ] InventoryTest.GetDrink (@ ms)
] InventoryTest.IsEmpty
0K ] InventoryTest.IsEmpty (@ ms)
] InventoryTest.ReduceDrink
0K ] InventoryTest.ReduceDrink (@ ms)
] 4 tests from InventoryTest (0 ms total)

TEST(InventoryTest, ReduceDrink) @
Drink drink("2AE{", 2000, "D004");
inventory inv(drink, 2);
inv. reduceDrink();
ASSERT_FALSE (inv. isEmpty());

inv. reduceDrink();
ASSERT_TRUE(inv. isEmpty());

b b fud b fund b fud b fed




2. Unit Test Case AlLI2|2 & Z 1}

- domain/order- =32 LiE 44 X M AEH 2t

TEST(OrderTest, SetStatus) {
EST(OrderTest, AttachPrePay) { Order order;

Drink drink("Afo[C}", 1500, '"D@@2");
std::string code = "PRE0O1";

Order order = Order().attachPrePay(drink, code); order.setStatus ( "Approved“ > -
- ’

‘ EXPECT_EQ(order.getPayStatus(), "Approved");
=CT_EQ(order.getDrink().getName(), "ALOICI");
EQ(order.getDrink().getPrice(), 1500);

order.getDrink().getCode(), "D002"); order.setStatus("Declined") H

E EQ(order.getOrderID(), code); EXPECT FO " : ny .
EXPECT_EQ(order.getPayStatus(), "Pending"); EXPECT_EQ (order'getpayStatus ’ Declined )'

4 tests from OrderTest
OrderTest.DefaultConstructor
OrderTest.DefaultConstructor (@ ms)
OrderTest.ParameterizedConstructor
OrderTest.ParameterizedConstructor (@ ms)
OrderTest.AttachPrePay
OrderTest.AttachPrePay (@ ms)
OrderTest.SetStatus

OrderTest.SetStatus (@ ms)

4 tests from OrderTest (@ ms total)

b et e e e e e
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1
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- domain/prepaymentCode - 9IE3E M4
HE X

ST(PrepaymentCodeTest, Constructor) {
PrepaymentCode code;

TEST(PrepaymentCodeTest, Rand) {
PrepaymentCode codel;
PrepaymentCode code2;

T_EQ(code.getCode().length(), 5);
_TRUE(PrepaymentCode: : isUsable(code.getCode()));

NE(codel.getCode(), code2.getCode());

=l 3 2 JoIx| &
tring code = codel.getCode();
_EQ(code. length(), 5);
ar c : code) {
'RUE(std: :isalnum(c));
salpha(c)) {
RUE(std::isupper(c));

EST(PrepaymentCodeTest, Rand) {
PrepaymentCode codel;
PrepaymentCode code2;

EXPECT_NE(codel.getCode(), code2.getCode());

TEST(PrepaymentCodeTest, IsUsable) {

12 Alo
:string validCode = "ABC12";
CT_TRUE(PrepaymentCode: :isUsable(validCode));

gl
tring wrongLength = "ABC1";
ECT_FALSE(PrepaymentCode: : isUsable(wrongLength) ) ;
} Z
:string lowerCase = "abc12";
SE(PrepaymentCode: :isUsable(lowerCase));

:string specialChar = "ABC

_FALSE(PrepaymentCode: : isUsable(specialChar));

RPRERERRPERERERERRR BB

TEST(PrepaymentCodeTest, SetStatus) {
PrepaymentCode code;
std::string usedStatus = "Used";

code.setStatus(usedStatus);

I_EQ(usedStatus, code.getStatus());

6 tests from PrepaymentCodeTest
PrepaymentCodeTest.Constructor
PrepaymentCodeTest.Constructor (@ ms)
PrepaymentCodeTest.Rand
PrepaymentCodeTest.Rand (@ ms)
PrepaymentCodeTest.IsUsable
PrepaymentCodeTest.IsUsable (@ ms)
PrepaymentCodeTest.Hold
PrepaymentCodeTest.Hold (@ ms)
PrepaymentCodeTest.SetStatus
PrepaymentCodeTest.SetStatus (@ ms)
PrepaymentCodeTest.GetCode
PrepaymentCodeTest.GetCode (@ ms)

6 tests from PrepaymentCodeTest (@ ms total)



- domain/prepaymentCode - 9IE3E M4
HE X

ST(PrepaymentCodeTest, Constructor) {
PrepaymentCode code;

TEST(PrepaymentCodeTest, Rand) {
PrepaymentCode codel;
PrepaymentCode code2;

T_EQ(code.getCode().length(), 5);
_TRUE(PrepaymentCode: : isUsable(code.getCode()));

NE(codel.getCode(), code2.getCode());

=l 3 2 JoIx| &
tring code = codel.getCode();
_EQ(code. length(), 5);
ar c : code) {
'RUE(std: :isalnum(c));
salpha(c)) {
RUE(std::isupper(c));

EST(PrepaymentCodeTest, Rand) {
PrepaymentCode codel;
PrepaymentCode code2;

EXPECT_NE(codel.getCode(), code2.getCode());

TEST(PrepaymentCodeTest, IsUsable) {

12 Alo
:string validCode = "ABC12";
CT_TRUE(PrepaymentCode: :isUsable(validCode));

gl
tring wrongLength = "ABC1";
ECT_FALSE(PrepaymentCode: : isUsable(wrongLength) ) ;
} Z
:string lowerCase = "abc12";
SE(PrepaymentCode: :isUsable(lowerCase));

:string specialChar = "ABC

_FALSE(PrepaymentCode: : isUsable(specialChar));

RPRERERRPERERERERRR BB

TEST(PrepaymentCodeTest, SetStatus) {
PrepaymentCode code;
std::string usedStatus = "Used";

code.setStatus(usedStatus);

I_EQ(usedStatus, code.getStatus());

6 tests from PrepaymentCodeTest
PrepaymentCodeTest.Constructor
PrepaymentCodeTest.Constructor (@ ms)
PrepaymentCodeTest.Rand
PrepaymentCodeTest.Rand (@ ms)
PrepaymentCodeTest.IsUsable
PrepaymentCodeTest.IsUsable (@ ms)
PrepaymentCodeTest.Hold
PrepaymentCodeTest.Hold (@ ms)
PrepaymentCodeTest.SetStatus
PrepaymentCodeTest.SetStatus (@ ms)
PrepaymentCodeTest.GetCode
PrepaymentCodeTest.GetCode (@ ms)

6 tests from PrepaymentCodeTest (@ ms total)



2. Unit Test Case AlLI2|2 & Z 1}

MessageTest HAE Z 1t

| Running 11 tests from 3 test suites.

| Global test environment set-up.

| 4 tests from MessageSenderTest
[ RUN | MessageSenderTest.BroadcastSendMultipleEndpoints
[Sender] warning: failed to send to 127.0.0.1:9000: connect: Connection refused
[Sender] warning: failed to send to 127.0.0.1:9001: connect: Connection refused
| 0K ] MessageSenderTest.BroadcastSendMultipleEndpoints (3 ms)
[ RUN | MessageSenderTest.UnicastSendToTarget
[Sender] warning: failed to send to 127.0.0.1:9001: connect: Connection refused
[ OK ] MessageSenderTest.UnicastSendToTarget (@ ms)
[ RUN | MessageSenderTest.CanSerializeAndSendToCorrectEndpoint
[Sender] warning: failed to send to localhost:9000: connect: Cannot assign requested address
[ OK ] MessageSenderTest.CanSerializeAndSendToCorrectEndpoint (9 ms)
[ RUN | MessageSenderTest.BroadcastMessageToAllEndpoints
[Sender] warning: failed to send to 127.0.0.1:9000: connect: Connection refused
[Sender] warning: failed to send to 127.0.0.1:9001: connect: Connection refused

0K ] MessageSenderTest.BroadcastMessageToAllEndpoints (@ ms)
| 4 tests from MessageSenderTest (14 ms total)




2. Unit Test Case AlL}2|I2 & &

- domain/prepaymentCodeRepository - &l IH X| E2/ 0] Q!

TEST(PrepaymentCodeRepositoryTest,
PrepaymentCodeRepository repo;

TEST(PrepaymentCodeRepositoryTest, MultipleSaves) {
PrepaymentCodeRepository repo;
std::vector<PrepaynentCode> codes;

for (int i=0; i<5; i) {
PrepaymentCode code;
codes. push_back  code) ;
repo. save(code) ;

EXPECT_TRUE( repo. isSameCode codes[2].getCode()));

PASSED

/1 Test #1: GoogleTests

InvalidCode) {

for (int i = 0; i < 5; i++) {
PrepaymentCode code;
repo.save(code);

ALSE (repo.isSameCode("INVALID"));
ALSE(repo.isSameCode(""));

T_FALSE(repo.isSameCode("ABC12"));

2 tests from PrepaymentCodeRepositoryTest
PrepaymentCodeRepositoryTest.MultipleSaves
PrepaymentCodeRepositoryTest.MultipleSaves (@ ms)
PrepaymentCodeRepositoryTest.InvalidCode
PrepaymentCodeRepositoryTest.InvalidCode (@ ms)

2 tests from PrepaymentCodeRepositoryTest (@ ms total)

Global test environment tear-down
19 tests from 6 test suites ran.
19 tests.

(0 ms total)

Passed 0.00 sec

100% tests passed, @ tests failed out of 1




2. Unit Test Case AlLI2|2 & Z 1}

- Service/OrderService - Z Ml 42 0 £ (success)0l| @2t =2 AHEl (status))| '‘Approved' =

'Declined'Z F&5| 4F&=Xl AE5= &9 HAE =

Start 4: TestOrderService

: Test command: /home/dev/build/test_order_service.out
: Test timeout computed to be: 10000000
: Running main() from /home/dev/1lib/googletest/googletest/src/gtest_main.cc
: =] Running 1 test from 1 test suite.
] Global test environment set-up.
----] 1 test from OrderServiceTest
[ RUN ] OrderServiceTest.ApproveHandlesTrueFalse
Ol A'EH] Approved
501 &EH] Declined
OK ] OrderServiceTest.ApproveHandlesTrueFalse (@ ms)
] 1 test from OrderServiceTest (@ ms total)

-] Global test environment tear-down

=] 1 test from 1 test suite ran. (@ ms total)
[ PASSED ] 1 test.

: TestOrderService Passed 0.10 sec

o

#include "OrderService.hpp"
#include <iostream>

OrderService: :0OrderService() {}

OrderService::approve(const std::string& paymentID,
if (success) {

status = "Approved";
} else {

status = "Declined";

1
J

std::cernt << =0l

=01 ¢ ] " << status << std::endl;

OrderService::createOrder(c
drinkCode = code;

std::string& code) {

std::cerr << "[FF MA] DrinkCode: " << drinkCode << std::endl;

d OrderService::attachPrePay(c t std::string& code) {
prepayCode = code;

std::cerr << "[&ZH ZE 9 : " << prepayCode << std::endl;




2. Unit Test Case AlLI2I2 & Z1
- Service/InventoryService - AZHJ| Ll 882 1 222t F&84d A JIsS 8E

test_inventory_service.cpp > @J TEST(InventoryServiceTest, CallinventoryReturnsList)
#include <gtest/gtest.h>
#include "application/InventoryService.hpp”

test 3 (InventoryServiceTest, CallInventoryReturnsList) {
Start 3: TestInventoryService InventoryService service;

result = service.CallInventorySer();

: Test command: /home/dev/build/test_inventory_service.out TRUE(result.empty());

: Test timeout computed to be: 10000000
: Running main() from /home/dev/1ib/googletest/googletest/src/gtest_main.cc
] Running 2 tests from 1 test suite.
Global test environment set-up. EST(InventoryServiceTest, SaleValidReturnsTrue) {
2 tests from InventoryServiceTest InventoryService service;
InventoryServiceTest.CallInventoryReturnsList

TRUE(service.getSaleValid

InventoryServiceTest.SaleValidReturnsTrue
InventoryServiceTest.SaleValidReturnsTrue (© ms)
2 tests from InventoryServiceTest (© ms total)

Global test environment tear-down
2 tests from 1 test suite ran. (@ ms total)
PASSED 2 tests.
3/5 Test #3: TestInventoryService Passed 0.07 sec

3
8
3
3
3
3
3¢
3 InventoryServiceTest.CallInventoryReturnsList (@ ms)
3:
3
3
3
3
3
3




2. Unit Test Case AlLI2I2 &L &1

- Service/DistanceService - J| & J})}2 AHEHD| M RYA HIAS

itesthd
Start 1: TestDistanceService

: Test comman /home/dev/build/test_distance_service.out
: Test timeout computed to be: 10000000
: Running main() from /home/dev/1ib/googletest/googletest/src/gtest_main.cc
: 1 Running 3 tests from 1 test suite.
] Global test environment set-up.
] 3 tests from DistanceServiceTest
[ RUN ] DistanceServiceTest.ReturnsNearestWhenAllDifferent
[Hel HA] JF& Jbpbe AHED| ID: vMeel, Hel: 1.41421
[ OK ] DistanceServiceTest.ReturnsNearestWhenAllDifferent (@ ms)
[ RUN ] DistanceServiceTest.ChoosesSmallerIdWhenDistancesAreEqual
[Hel AT It It AEI| ID: vMee5, Hcl: 1.41421
[ OK ] DistanceServiceTest.ChoosesSmallerIdWhenDistancesAreEqual (@ ms)
[ RUN ] DistanceServiceTest.ReturnsEmptyStringWhenNoMachines
[AHe2l AT It P K &I 1ID: , Hel: 1.79769e+308
OK ] DistanceServiceTest.ReturnsEmptyStringWhenNoMachines (@ ms)
—————————— ] 3 tests from DistanceServiceTest (@ ms total)

] Global test environment tear-down
] 3 tests from 1 test suite ran. (@ ms total)
PASSED ] 3 tests.
/5 Test #1: TestDistanceService .

3+ test_distanc

#include <g t/ i
#include pplication/DistanceService.hpp”

DistanceServiceTest, ReturnsNearestWhenAllDifferent) {
std::vector<VMInfo> machines
"V , {10.0, 10.0}},
", {5.0, 5.0}},
1=, (1.0, 1.0}

DistanceService service;
ring nearest = service.findNearest(0.8, 0.0, machines);
T_EQ(nearest, "VMo@
T(DistanceServiceTest, ChoosesSmallerIdwhenDistancesAreEqual) {
:vector<VMInfo> machines =

", {1.0, 1.0}},
5¢, {-1.6, -1.0)

Distanc rvice service;
std::string nearest = service.findNearest(0.0, 0.0, machines);

EXPECT_EQ(nearest, "VM@®@5");

TEST(DistanceServiceTest, ReturnsEmptyStringWhenNoMachines) {
std: :vector<VMInfo> machines;

rvice service;
td::string nearest = service.findNearest(0.0, 0.0, machines);




2. Unit Test Case A|LI2|2 &L 21

- MessageService::broadcastStock() - MessageService::broadcastStock()
S& AN sendJ} & =8&l=X &0l SEANMUANX LS BS

<gtest/gtest.h>
#include "network/MessageSender.hpp"
#include "network/MessageReceiver.hpp"
#include "service/MessageService.hpp"
#include "service/ErrorService.hpp"
#include "service/InventoryService.hpp"
#include "service/PrepaymentService.hpp"
#include "domain/drink.h"
#include "domain/inventory.h"

11 #include "persistence/OvmAddressRepository.hpp"

#include

#include <gtest/gtest.h>

#include "network/MessageSender.hpp"
#include "network/MessageReceiver.hpp"
#include "service/MessageService.hpp"
#include "service/ErrorService.hpp"
#include "service/InventoryService.hpp"
#include "service/PrepaymentService.hpp"
#include "domain/drink.h"

#include "domain/inventory.h"

#include "persistence/OvmAddressRepository.hpp"

TEST(MessageServiceTest, BroadcastStockTest) {
boost::asio::io_context io; TEST (MessageServiceTest, BroadcastStockTest) {

boost::asio::io_context io;

persistence: :0vmAddressRepository repo;
service::ErrorService errSvc;
InventoryService invSvc;
PrepaymentService prepaySvc;
rink d("Z2}", 1500, "D005");
:inventory drink(d, 10);

persistence::0vmAddressRepository repo;
service::ErrorService errSvc;

service: :InventoryService invSvc;
service::PrepaymentService prepaySvc;
domain::Drink d("Z2t", 1500, "D0@5");
domain::inventory drink(d, 10);

domain
domain:

std::vector<std::string> eps = {"127.0.0.1:9000"};
std::unordered_map<std::string, std::string> id_map = {{"T1", "127.0.0.1:9000"}};
network: :MessageSender sender(io, eps, id_map);

network: :MessageReceiver receiver(io, 9000);

std::vector<std::string> eps = {"127.0.0.1:9000"};
std::unordered_map<std::string, std::string> id_map = {{"T1", "127.0.0.1:9000"}};
network: :MessageSender sender(io, eps, id_map);

network: :MessageReceiver receiver(io, 9000);

application::MessageService msgSvc(sender, receiver, repo, errSvc, invSvc, prepaySvc, drink);

application::MessageService msgSvc(sender, receiver, repo, errSvc, invSvc, prepaySvc,

EXPECT_NO_THROW(msgSvc.broadcastStock(d)) ;

EXPECT_NO_THROW(msgSvc.broadcastStock(d)) ;



2. Unit Test Case A|LI2|2 &L 21

- MessageSenderJl &2 0l Al X| - MessageReceiver) iE2 S8
SHI2 2386t 8&dt=X &ol Xelst=Xl &el

#include <gtest/gtest.h>
#include <boost/asio/io_context.hpp>
#include "network/MessageSender.hpp"
#include "network/MessageSerializer.hpp"
#include <sstream>

tests > network > €+ test_MessageReceiver_subscribe.cpp > ...
#include <gtest/gtest.h>
#include <boost/asio.hpp>
4 #include "network/MessageReceiver.hpp"
using namespace network;
TEST (MessageReceiverTest, SubscribeHandler) {
boost::asio::io_context io;
unsigned short port = 9002;
network: :MessageReceiver receiver(io, port);

TEST(MessageSenderTest, CanSerializeAndSendToCorrectEndpoint) {
boost::asio::io_context io;
std::vector<std::string> endpoints = {"localhost:9000"};
std::unordered_map<std::string, std::string> id_map = {{"T5", "localhost:9000"}};

MessageSender sender(io, endpoints, id_map); bool called = false;
Message msg;

msg.msg_type = Message::Type::REQ_STOCK;

msg.src_id = "T1";

msg.dst_id = "T5";

msg.msg_content = {{"item_code", "D001"}, {"item_num", "01"}};

receiver.subscribe(network: :Message: : Type: :REQ_STOCK,
called = true;

[&] (const network::Message& m

});

EXPECT_NO_THROW(sender.send(msg) ) ; EXPECT_NO_THROW( receiver.start());



2. Unit Test Case AlLI2I2 &L =1}

SBZ2C HAEMNAIX A HAIX 2= sendPrePayReq() 0l Al X| &4 2|
&0l &0l

#include <gtest/gtest.h>
#include "domain/drink.h"
#include "domain/order.h"
#include "network/message.hpp"

v #include <gtest/gtest.h>
#include "service/MessageService.hpp"
#include "domain/drink.h"

TEST (MessageServiceTest, PrepayRequestMessageFields) {

domain::Drink drink("A{O|C}H', 1500, "D002");

domain::0rder order("T2", drink, 2, "ABC123", "Pending");

v TEST(MessageServiceTest, BroadcastStockCreatesCorrectMessage) {
domain::Drink drink("Z2}", 1500, "D001");

network: :Message msg;
msg.msg_type = network::Message::Type::REQ_STOCK;
msg.dst_id = "0";

network: :Message msg;
msg.msg_type = network::Message::Type: :REQ_PREPAY;

msg.msg_content = {{"item_code", drink.getCode()}, {"item_num", "01"}}; :

h g msg.dst_id = order.vmId();
EXPECT_EQ(msg.msg_content.at("item_code"), "D001"); msg.msg_content = {
EXPECT_EQ(msg.dst_id, "0"); {"item_code", order.drink().getCode()},

{"item_num", std::to_string(order.quantity())},
{"cert_code", order.certCode()}
};

EXPECT_EQ(msg.msg_content.at("item_code"), "D002");
EXPECT_EQ(msg.msg_content.at("cert_code"), "ABC123");
EXPECT_EQ(msg.dst_id, "T2");




2. Unit Test Case AlLI2|2 & Z 1}

respondPreqayReq() M 1 US respondPreqgayReq() i 1 &1

Ude <gte gee
#include "domain/drink.h"

#include "domain/order.h" ) T "
#include "network/message.hpp" #include network/message.hpp

#include <gtest/gtest.h>

TEST (MessageServiceTest, PrepayResponseSuccessMessage) {
domain::Drink drink("2AE", 2500, "D005");
domain::0rder order("T2", drink, 1, "CERT123", "Pending");

TEST (MessageServiceTest, PrepayResponseFailMessage) {
network: :Message msg;
msg.msg_type = network::Message::Type: :RESP_PREPAY;
network: :Message msg; msg.msg_content = {
msg.msg_type = network::Message::Type: :RESP_PREPAY; -:’"availability" nEnY
msg.dst_id = order.vmId(); oy S I'” i
msg.msg_content = { i"item_num®, "2%},
{"availability", "T"}, {"item_code", "D009"}
{"item_num", std::to_string(order.quantity())}, };
{"item_code", drink.getCode()}
+;
EXPECT_EQ(msg.msg_content.at("availability"), "F");

EXPECT_EQ(msg.msg_content.at("availability"), "T"); EXPECT_EQ(msg.msg_content.at("item_code"), "D009");
EXPECT_EQ(msg.msg_content.at("item_code"), "D0@5");




2. Unit Test Case AlLI2I2 &L =1}

- handlePesaPrepay() T&=&l £
pending =D| &}

bts > network > €+ msg_service_test_5.cpp > ...
#include <gtest/gtest.h>
#include "network/message.hpp"

TEST(MessageServiceTest, HandleRespPrepay_ClearsPendingOnSuccess) {
bool pendingExists = true; =2

network: :Message msg;
msg.msg_type = network::Message: :Type: :RESP_PREPAY;
msg.msg_content = {

{"availability", "T"},

{"item_code", "D003"},

{"item_num", "1"}

if (msg.msg_content.at("availability") ==
pendingExists = false;

EXPECT_FALSE (pendingExists) ;




2. Unit Test Case AlLI2|2 & Z 1}

MessageTest HAE Z 1t

| Running 11 tests from 3 test suites.

| Global test environment set-up.

| 4 tests from MessageSenderTest
[ RUN | MessageSenderTest.BroadcastSendMultipleEndpoints
[Sender] warning: failed to send to 127.0.0.1:9000: connect: Connection refused
[Sender] warning: failed to send to 127.0.0.1:9001: connect: Connection refused
| 0K ] MessageSenderTest.BroadcastSendMultipleEndpoints (3 ms)
[ RUN | MessageSenderTest.UnicastSendToTarget
[Sender] warning: failed to send to 127.0.0.1:9001: connect: Connection refused
[ OK ] MessageSenderTest.UnicastSendToTarget (@ ms)
[ RUN | MessageSenderTest.CanSerializeAndSendToCorrectEndpoint
[Sender] warning: failed to send to localhost:9000: connect: Cannot assign requested address
[ OK ] MessageSenderTest.CanSerializeAndSendToCorrectEndpoint (9 ms)
[ RUN | MessageSenderTest.BroadcastMessageToAllEndpoints
[Sender] warning: failed to send to 127.0.0.1:9000: connect: Connection refused
[Sender] warning: failed to send to 127.0.0.1:9001: connect: Connection refused

0K ] MessageSenderTest.BroadcastMessageToAllEndpoints (@ ms)
| 4 tests from MessageSenderTest (14 ms total)




2. Unit Test Case AlLI2|2 & Z 1}

MessageTest H| A E

21

6 tests from MessageServiceTest

MessageServiceTest.
.BroadcastStockCreatesCorrectMessage (@ ms)
MessageServiceTest.
MessageServiceTest.
MessageServiceTest.
MessageServiceTest.
MessageServiceTest.
MessageServiceTest.

MessageServiceTest

MessageServiceTest
MessageServiceTest

MessageServiceTest

BroadcastStockCreatesCorrectMessage

PrepayRequestMessageFields
PrepayRequestMessageFields (@ ms)
PrepayResponseSuccessMessage
PrepayResponseSuccessMessage (@ ms)
PrepayResponseFailMessage
PrepayResponseFailMessage (@ ms)

.HandleRespPrepay_ClearsPendingOnSuccess

.HandleRespPrepay_ClearsPendingOnSuccess (@ ms)
MessageServiceTest.
.BroadcastStockTest (@ ms)

BroadcastStockTest

6 tests from MessageServiceTest (1 ms total)

1 test from MessageReceiverTest
MessageReceiverTest.SubscribeHandler
MessageReceiverTest.SubscribeHandler (@ ms)
1 test from MessageReceiverTest (@ ms total)

Global test environment tear-down
11 tests from 3 test suites ran. (17 ms total)




3.00D0IA =848 F= dcl

Activity 2033. J| = Define Domain Model

Drink AuthCode
name String code String CardReader
price Float expiry Date VendingMachine readerlD String
stock Integer id String BroadcastMessage
location String CardSystem
Order Fayiment messageld String
: . paymentld | String SystemName String
id String targetDrink String
- - status String
SelectedDrink Drink
o Date method String otherVendingMachine InventoryStatus
id =mng status String
location String availableQty Integer




3.00D0IA =848 F= dcl

Activity 2033. Define Domain Model

Drink

drinkCode

String

name

String

price

Int

PrePaymentCode

code String
status CodeStatus

heldorder Order

Inventory

drink

Drink

Order
vmid String
drink Drink
gty Int
certcode String
paystatus String

VendingMachine

qty

Int

id String
location <int,int>
port String
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Activity Domain
2043. . . —
jl = Core Purchase Communication
—
. 1 ([ 1 [ ]
Ref' ne ’ | Inventory Security
ertica
SVStem Layers
Archi Infrastructure
tecture N4
] 1] [ ]
DataBase File I/O Messaging
Horizontal :>
Partitonal
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ACt iVity Userinterface

2 043 o Presentation

Tier

H ﬂ) UserProcess
Refl ne Controller

Syste m Inventory Order Prepayment Distance Message

Service Service Service Service Service

AI'C h i | Error Service

Application Logic

Tier
Domain
tecture
Layer .
Vending
Machine Ean
Drink Inventory Prapayrmnt
Code
Network Persistence
Infrastructure | Message Payment
Tier Callback Inventory PrepayCode OvmAddress
Message Message Receiver Reporitory Reporitory Reporitory
Sender Receiver




3. 00D =

Activity
2045.
Define
Design
Class
Diagrams

A N

==
T I

=

PrePayCode Repository

+ save(Order order): void
+isSameCode() - boolean

+ find(code: String) : PrePaymentCode
+ changeStatusCode(String code): void

Inventory Repository

+ isValid(Drink drink): boolean
+ isEmpty(Drink drink): boolean

+ changeQty(Drink drink): void
+ find(vm: vendingMachine, drink:Drink): Inventory
+ find(String code) : PrepaymentCode

Userinterface

|+ displayList() : void

|+ display_Error(String errorSt) :void

|+ display message(String msg): void

|+ show_error_message(errorSt: String): void

PaymentCallback Receiver

PrePayment Service

+isSueCode(): PrepaymentCode

1 * isSueCode(Order order): void
+ isValid(String code) : boolean

+callReceiver() : String
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[+ promptPrepayCode() : void

|+ PromptCardinfo() : void

|+ dispense(Drink drink) : void

|+ show_location() : void

|+ showText(String message) : void

|+ showText(PrepaymentCode code) : void

UserProcess Controller

+ handleMenu() : void
+ handlePrepay(Stnng code) vmd

Payment Service

+ requestPayment(order: Order, cardinfo: String) : Payment

+ handleDri

Inventory Service

Inventory

+ getList(): List

- drink : Drink
-qty :Int

+ CallinventorySer() : List

+ getSaleValid(): boolean

+ reserve(gty : int) : void
+ release(gty : int) : void
+isEmpty() : boolean

+ Reql eDrink(Drink drink): drink

+ handlePayment(String cardlnfo) - void
+ show_error_message(errorSt: String): void
+ notify_error(errorReport: ErrorReport) - void

: String) : void
'declme(paymemm String, reason: String) : void

Order Service

+ createOrder(drink: Drink) : Order

PrePaymentCode

- code : String
- status : CodeStatus
- heldorder : order

+ rand(): String

+ use(code: String) : Code

+ hold(Order order) : void

+ isUsable(code: String): boolean

ErrorService

+ noti

+ cancelOrder(Orderld: String) : void
+ approve(paymentID : String) : void

Drink

- name : String
- price: Int
- drinkCode : String

+ getList() : List

VendingMachine

-id : String
- location : <int, int>
- port : String
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+ log_error(errorﬂeport ErrorRepon) volu

Message Service

Order
-vmid : String - certcode : String
- drink : String - paystatus - String
- gty -int

+ setStatus(status: String) : void

+ attachPrePay(drink: Drink, code: String): Order

+ respondPrepayReq(Order order): void
+ sendPrePayReq(Order order) : void

+ validOVMstock() : boolean

+ onMessage(String message) : void

Message Sender

L

+ send(endport: String, msg: Message): void
+ sendPrePay(endpoint : String, order: Order): void

Distance Service
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+findNearest() : Location

oord: Coordi : VmEndPoint

String, order: Order): void
+vandOVMslock() boolean

Message Receiver

+ getDistance(List) : void
+ void

qResp




